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Insiructions for Candidates

. Write your Roll No, on the top immediately on receipt
of this question paper.

2. Answers may be written either in English or in Hindi
but the same mediom should be used throughout the

paper.

3. There are three scctions in this question paper.
Number of questions to be attempted from each
section is given st the beginning of cach section.

4. Each guestion carries equal marks.
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Name of the Course : B.A. (Hons) Economics —
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Semester HIE |

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Rall No. on the top immediately on receipt
of this question paper.

2. Answers may be written in English or Hindi, but same
medium should be used throughout the paper.

3. There are ¥ sections in ull and all Sections are
compulzory.

4. All parts of a question must be answered together.
5. Use of simple caleulator 1s allowed.

6. PwD marked questions are alternatives to be sttempted
only by PwD students.
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Instructions for Candidates

| Write vour Roll No. on the top immediately on receipl
of this question paper.

Bad

Attempt any live guestions.
3. Al guestions carry cqual marks
4. Simple calculator 15 permissible.

5,  Answers may be written either in English ar Hindi;
but the same medivm should be used throwghowt the

paper.
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(#) Explain the two main causes of market failure

and give gn example of cach?

(b} What do you understand by production possibility
curve? [hscuss its mmplications and uses!

{c} Why does s tradecll anse between incentive and
equality?
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() Using supply and demand diagrams show the
effect on the market for personal computers

(i} The price of computer chips falls
(1) Rise in consumer income

(i) Price of computer sofiware rises

(b) How price elasticity is calculated through fotal
revenue method?

(e} Which causes o shortage of good- a price ceiling
or price Moor? Which causes o surplus?
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WOWAE ) i R
(i) Tz fam o dew fe 2
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{a) Define deadweight logs of tax, How does elasticity
of supply and demand ¢ffect the deadweight loss
of tax?

(b} In supply and demand diagram show producer and
consumer surplus in the market equilibrium?

(e} Deseribe the effects of tanff and its economic
effects.

(ar) = it aww wif F1oufenE o) g s o
AT W i WA AR et w27

(1) angf s s s W owee GEEe W FemeE s
IniE At S i 7

(@) 2R® o wara st e anfds e w0 w7

(0] Explain the decision of an individual 1o allocate
his/her time between work and lIgisure through
mdifference curve? How does increase in wage
rate affect this decision?

(b} Draw the indifference curve in case of perfect
substitutes and perfect complements

(e} Mustrate the four properties of indifference
curve.
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(n) Explain the long run average cost as planning
curve,

(b} Why Marginal cost curve and avernge cost curves
are U-shaped?

() Define teral cost, 1ot fixed cost total variable
eost, average cost and marginal cost, How are
they related?

(3) P o & 59 % SeEeT siem e w5 e
e
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(7]
(a1 Under what conditions will a firm shut down

temporarily?

th) Why do firms enteran mdustry when they know
that in the leng run economic prafit will be zero?
Under what conditions they exit markel”

{¢) Does a firm's price cqual marginal cost i the
short run, in the long run or both? Explain,

(o) Tawr il % o ol st =0 @ B S

(=) P fr T ¥ wEw wl weR § oww T oA
R B
it W W B aEr e f7

(w) T fh o ot S s, St o @ e
A AR A & W R BT wmEn W

{u) Deline natural monapoly.

(b} Define price discrimination with two examples in
cach case. Explain why the monopolist chooses Lo
follow this business stralegy,

(g} Draw the demand curve, marginal revenue and
mirginal cost curves for a monopolist? Show the
profit maximizing output and price of a monopalist?

3710 7
(W) el e = i

(¥) widen wwst & A Fewenl @ awogE W ®
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(#) v ol & fwowm omw, daeE aws e
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& (a) Give two reasons thal could shift demand and

supply of lahour.

(1) A decrease in retiroment age leads to decrease in
supply of labour, Diseuss its impact on equilibrium
wage and value of marginal product?

{ch Explain how a firms production function is related
to margingl product of a labour and margingl
product is related to value of marginal produet
and how a firm's value of marginal product i
related to demand of Tnbour?
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Sr. No. of Question Paper: 537 G
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Name of the Paper ¢ Introductory Microeconomics
Name of the Course i BAL (H) Economics
Semester A -

Duration : 3 Hours Maximum Marks : 90
Instructions for Candidates

1. Write your Rall No. on the top immediately on receipt
of this question paper.

2, Attempt any five questions,
3. Al guestions carry equal marks.
4. Use of simple calculator is allowed.

5.  Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.
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Sr. No, of Question Paper : 614 G
Unigue Paper Code + 2272101103

Name of the Paper . Introductory Statistics for Economics

Name of the Course :  B.A. (H) Economics DSC-3

Semester = ]

Duration : 3 Hour Maximum Marks : 90
Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be writien either in English or Hindi; but the same medium should

be used throughout the paper.

3. All questions within ¢ach séction are to be answered n a contiguous manner on
the answer sheel. Start each guestion on a new page, and all subparis of a
question should follow one after the other.

4. All intermediate caleulations should be rounded off to 3 decimal places. The
values provided in statistical tables should not be rounded off. All final calculations
should be rounded off to two decimal places. i

5. The use of a simple non-programmable caleulator is allowed.

. Stalistical tables are attached for your reference.
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Q1. (a) The first four deviations from the mean in a sample of 3 reaction times are 0.3, 0.9, [.0and | 3
Answer the questions that follow

L What is the deviation from the sample mean for the fifth observation?
. Calculate the sample standard deviation, Tf each observation 1s multiplied by 2. mhﬂr

new vananesT
iii. Whtrﬁldwgtuufﬁudmnﬂrmhmmmﬂmmlﬂwmrﬁﬂﬂqﬂhh
number of observations in the sample? (4242}
{b) Consider the following data and answer the questions that follow
Class 55 Tsio Tiois [1530 [2030 | 3040 [#050 |6090 |
Interval
Relaiive 10177 0166 [0.175 | 0136 |0.1%4 | 0078 |[0044 |0030
Finaneed N |

1. Hmiyﬂ::hﬂm#ﬂhwh:hmenmphmﬂHME
i, Calculate the density for each class interval. sl
i %ﬂmﬁlﬂfﬂ!ﬁvﬂulﬂbﬁwmiﬁm4ﬂ (14242

=1 msmmtw:ﬁ'mﬂmmmn 0.9, 1.0 ¥ 1.2
fetafl vt & 3 A o)

| gred s & R AR A @ Rowe s e
i s e ) Ao R | TR o e W 2R
At T Rretor F #7




given day with probability P{A. wherei= 1.2

{ A, going to college is independent of Az going o college on any given

day, P{A; N Ag A Ag= 0.04, PAGANAL) = .25, and PlAz) = A A )
If the probability of all three students nol coming to college on any given day is 0,06, whist
is the probability that st least one of them will come 1o college on that day?

Evaluate PLA; U Az) and mierpret it.
1f A+ has come fo college on any given
come to college on that day?

QL. mmmdmhm.Mand.&:gnmcum:g:mmy

and 3. Suppose that the evenl o

and Ay will olso
(1+2+2

cach at Re. 1200 each.

ik
fi.

day, what is the probability that Aq

(h}hmdmm-pmthlmﬂnﬂmphmuftbmkmﬂi 6.00 each and sells
Umnlﬂr.n-pinmmumd for Rs, 2.00. The PMF of X is given as follows
X 0 ||1 2 \3. |
0.1 0 0.2 {11
s | | |

p (x)

Find the
i PMF of the net revenue function Y.

i Expected value and varianee of X
il Expected value and varfance of the net revenue i
{109

i Find P(YZE)
m_mmn,,mmn.mmmﬁr
M3k meﬁlﬁﬂimﬁﬂﬂaaﬁﬂmm
As) = 0.04, P{AJANAZ) = 0.25, ¥R P(

mﬁmpqaymmﬁﬂmmﬂ‘!.aﬁln 1,2
tﬂﬂﬁﬂ##ﬁﬁ?tﬁmn

R, P{A N A D Ag) = 4P{A).

PTO.
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| P o R e o & Shie a0 & Wi 0.06 B, & F SRR
t B o# & ®A & w4 0% 3¢ Re Fow o

i m,umﬁ'qﬁﬂm'mmﬂmﬂml

i aﬁh.ﬂl&ﬁﬂﬂﬂﬁmtﬂwmthmmmﬁmm
i Iwea? (1+2+2)

mwmtwmmmmmamm#thmﬂa
ﬂmtnmh.mmmwnmnm-mﬁmm.mﬂ-m
5% R far T

X 0 1 2 3 '
p (=) 0.1 ‘|02 0.2 0.5
P L FC |

| Wmﬁmﬁﬂmw

i TEE @1 T g 3R R

il WWTHMWﬂtmi

w P(Yz8) @ifed | (10)

Q3 (2) One per cent of all Mﬂﬂul:hamtﬁnpumhﬁmmmﬁmnfnpuﬁuﬂiﬁm.ﬂ
diagnostic test for this disease hos a Np:runtdnmﬁmrmhmimmniﬁdmmrnr

k. Whthhﬁuhﬁilﬂyﬂmhuﬂimhyilﬂmimmlﬂ
fil.  Ifboth tests are positive, what is the probability that the selecied individual is a carrier”

{1+2<2)
Q3. (b) Let X be a random varisble with cdf

1] :-t:i
th{{:;z}l 2<xsd

Lo X4

i Find the pdf of X.

i FindP(2/3<X<3).

i Find P> 3.5).

iv Find the 60th percentile.

v Find P{X=3). (2*5=10)




614 5

uafq}ﬁﬁﬂ‘nﬂﬂmﬁfiﬂﬂrmﬁa’ﬂﬁtw#ﬁmﬁﬁﬁﬁﬁhﬂWﬂﬁmﬁ
mm&#mm#@#mmmﬁmmmmmmﬂ#
mmmﬂﬂnaﬁ.hnﬁmﬁmﬁuﬂmwmwﬁ:ﬁm#mﬂﬁﬂ
tﬁmﬂmmwnﬁqmiw#mﬁﬁwmmh

il aﬁrﬁﬁqﬁl‘mmﬂm!.ﬂ:mﬂrwh (1+2+2)

e iy dréres g
i P{zracxcﬂ}mWI
i P> 35 @ |

v P{X = 3) 7w Saw (2+5=10)

4 {ljwmmﬂﬂ witnesses only two types of duys, rainy of lunu:.-.ﬂ-epmhahﬂilﬂhllniuy
day is followed by a rmny day is 0.8 and the probability that n sunmy day is followed by i miny day 15
0.6, Find the probabiliry that a riwiny doy is foliowed by:

A iy My.almydny.mdmmdﬂniw day;

i 'Iurn'sunnyth:ﬂnndmmnu'mydn:

il Mo sunny day for three consecutive days,

i Poun twn days jater {14+1+1+2)

{1} i) The time T, m days, required for the mﬂ'l-'i:!iﬂ'l.m'l of i contracted project 12 3 random variable with
POF

(1) = 0.1e% fort > 0 and 0 ntherwise

Suppose the contracted project must be completed in 15 dﬂ]"i-th{lﬂ'lhtﬂl s a cost of Ra. 5(13-1)
and AT > 15 there is n:nqtufhiw-lilfhdmtupﬂtﬂdnmmhtmﬂ

i) Consider the experiment where product items are béing inspected for the prosenee of a particular
#Fﬂlmmidmﬁrnd:ﬂtﬁvtpmduﬂlmil found. Lot X deriote the total number of items inspected
Suppose & product item i3 defective with probability g, >0, independently of other product 11ems. Find
E(Xym 1mnfpm+mpmfh5imup{:}= (1=p)""p (5t5)

PT.O.
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Q4. (v) v AU T Eeoh & Faw & wwe & A @ § W@ T YN U FTEA
ot & wa OH WA o W @ WA 0.8 & ik v g aw B & W vw awEnd
o sy Yy ot 0.6 &1 witwar wm AT & god o waw w Ba e

| % w1 B, TF 4 T BE, ¥ o i aEe W R

i & ygEm & AN A oF e T e

il AR A e A g A,

v & e aw ame | (1414142}

() |) v it SR WG T F R des wa 8, R A, dfes &
UE ArTeoes O B

fo(t) = 0.1e”%" fort > Dand 0 3=

Hﬁﬁﬂ?ﬂﬂﬁ%qﬂﬁmﬁﬁ#ﬂ{hﬂ#uﬂmm&nmaﬂﬂm
5(15-T) &1 3 A T>15 & 10T - 15) 9% #r Fwa &) 99 = 30T 777 7
i

i) 38 e o Raw A S 3o aegt & R Rdw e & sefefa § R
ferfrarer e o 7 & @ &% % oper Swgdl Soo sseR aff B @ A S
5 x Ffwor & 7 Fept © o9 dEm T 2 8 A ST B 0w I 5w 5
e wEGA B FEAY FW Y WA p, pr0 ¥ F AMEh & F@ pmf Fplx) =
(1-p)~ip & ¥7 & Rar smen &, & p & weH & E(X) @B | (5+5)

PARTB
W

Attempt any twa questions from 5, 6 and 7

5, ¢ afte 7 5 A el & walt = e diferg

Q5. (8} Supposc the useful lifetime, in years, of a personal computer (PC) ts exponentially distributed
with parameter 1 = 0.25, A stodent entering a four-vear undergraduate program inherits & two-year-old
PC from his sister whe just graduated. Find the probability the useful Tife time of the PC the studeni
spherited will fast af least until the student geaduates. (5

(b) In & shipment of 10,000 of a cetain type of electronic component, 300 are defective. Suppase that
50 compenenis are selected at random for inspection, and let .Y denote the number of defective
components found.
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Find P (X< 3). Which distribution would you use?

ii Find E[X) and V{X).
iii Find un spproximation to the probability PLY < 3,

found in part (i), Which distribution would you use o
reascns for your answer. (34344)

(¢) A cancly company distributes boxe
cordials. Suppose that the weight of each box is | kilogram, but
creams, toffees, and cordials vary from box 1o box. For & randomly selected box, let Xand ¥

represent the weights of the creams and the toffect, respectively, and suppose that the joint
density functian of these variables 19
FxY) =ik + ) for0sxsh 0Sy= 1o sc+ys]

=}, otherwise

i Find the probability that ina given box cordials account for more than 1/2 of the weight-

What is the probability that the weight of the toflecs in 2 box is less than 173 of 8
kilogram if it is known that creams constitute 3/4.of the weight?
i Are X and Y independent’ Expluin using appropriale statistical measures. (5°2=10)

mﬁwqﬁﬁmﬁmﬁmm.ﬂﬂ.ma
mmmmﬁmmﬁ

ﬁfﬁaﬁrtﬁrﬁmmﬁmammh
sl e | FA A
{5

10,000 & FAT &, 300 2w &) Fow S
& & g s X e e gt S

Qs. (T} AW
-nﬁtmﬂﬁk#ﬂﬂﬁﬁmmh

wmﬂaﬂﬂﬂ#iﬁmmﬂrm
ﬁﬁﬂwmmmm#m#ﬁmmﬁ
ﬂm%mﬁm#ﬂml

mwmﬂmtmmt
hsnun#ﬂrﬁhw#ﬁwuwmﬁ

]
W Ep 3R VR B -
il mpmsa}mmﬁmm,mmwmm#ﬂﬂm
ﬁmm#rﬂﬂmWﬁmmmmﬂ#ﬁvmmmﬂm
m;tﬂ?aqﬂmtmmh (3+3+4)
{mwmmm.ﬂmﬂ!ﬂwmm#mﬂmﬁtmmm
t1mﬂmﬁqﬁr'ﬁwm1mt.mm.mm#ﬁhﬂﬂ

m-mmmmnﬂimmmﬂmhmﬁﬁm#mﬁama
ﬂsﬂtmnnﬁ"ﬂmamtmnm

PT.O.
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flx.y) -%{Ex-l-iy}.farﬂ' sr<l 0<y<10 Sz+y=<1
= 0, Fwaur

| it W @ B R R e awe & e T 12 4 e R
gar war Wil B oow e A et s g o fests & 48 s 2
FHE M w W s s D

I w X MY Y T £ 3R wiead et e seahr st R (5.2=10)

Q6 {1} An examination is frequently regarded as being good (in the sense of determining s valid grade
spread for those taking it} if the test scores of those taking the examination can be approximaned by a
normal density function. The instructor offen uses the test scores to estimate the normal parameters i
and o and then assigns the fetter grade A 1o those whose test score is greater than p - = B 1o those
whose score 13 between pand + 8, C to those whose score ts between - 0 and 1, B 1o those whosse
score is between j— 20 and p - o, and F to those getting @ score below |1 — 2a. Determine the % of
students who receive grade A, B, C und D, (5)

(b) A typesetting agency used by a scientific journal employs two typesetiers. Let ¥, and X denote the

number of errors committed by typesetter | and 2, respectively, when asked 1o typeset an urticle.
Suppose that X, and Xy are Poisson random varisbles with expected values 2.6 and 1.8, respectively.

i What is the varinnce of X; and of 137
n  Suppose that typesetter | mﬁﬂﬂiﬂhuﬁhFﬂthﬁumm: next article

will have no ermons.
fi If an article has no typesetting ervors, what is the probability it was typeset by the second
rypescier? (24345)

Q6. () A comn 1s tossed twice. Let A denote the number of heads on the first toss and B the total number
of heads on the 2 tosses. If the com 15 unhalanced and & head has 2 30% chance of occurring,

| Find the joint probability distribution of A and B.
it Check whether A und B are dependent, using appropriate statistical measures,  (2%5=]0)

Q6 (u) ww qlien # IEET OO AT A R (5R A3 a9 $ B ow Ay A www
mm#mmmmnmarmmwmmmm
ﬁnﬂaﬁmmmhwﬁmmmmumuwmmﬁ
ﬁwmmmmmtmﬁwrﬂmmhwmmm-tﬁaﬁr
qﬂmﬁﬁtw#m-tﬂmmﬁﬁMHﬂTpmw#h!ﬁmﬁ
Sl 1 & b e R A g - 0 W p & @, D 3 A & e e w
"2 p-oFTUE IMFARME R B ey -0 ad f s @
& WA w wnt A ot e v Rt few | (5)
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L oge mmﬂ'&%ﬁﬂrﬁ'm:ﬂﬁgﬁ
mﬂmm#ﬁw:ﬁmwww
R X, HT X W AT

614
ﬁw.mmwm
7 &) e AT X WX T
1m-zm-ﬂr$mﬂmwmstmﬂm
m.z.amastmdﬁmmmﬂh

| %y 3T X oo = AT
i mﬁﬁwﬁM1mMﬂraﬂmhwﬁmmm-ﬁm

Fu # g 7

il ﬂﬁﬁﬁﬂﬂtmgﬁﬁﬂﬁ!.mwﬂmmthﬂm
M}mmma'rmmmhnﬁrﬁﬂvﬂmqmwﬁmmﬁﬁm
m.gmaamﬂmmmmﬁmmnmmmtm

¥z A @ EaTEe 30% £

i hmanﬁgﬁmmmﬂmi
ﬁﬁaﬁﬁ?mwaﬂwtaﬁmhuaﬁﬂm

Q7 {n) An engineer il 4 constructio
with this electrical subcontractor, the engineer knows

of a new office building. From past experience
is installed will be funlty with probability p = 0.002 independent of the other
it Let U be the number of fauity

nﬂmmﬂmmhﬂﬁngmﬂ have n= 1500 light switches iy

light switches m the building. Find spproximate probability P4 X = &), Which distribution do you

use and why 5

(1) The yield strength (ksi) for p=43mda=45
| What is the 25th percentile
i What strength value separates the sron
i What is the value of

particuliar type of stecl is normaily distributed with

of the distribution of this stee] strenyth?

gest 1 0% from the others?
¢} inclodes 79% of all strength values!

e of 15 independently selected steels have strengrh less

i What s ihe probability that st most thee
than 437 (2+1+3+1)
(c) Let X and Y be independent standard normal random variables. Consider the following
linear mansformations of X and ¥
U=aX+band V=c¥ +d abcd€ER
| Findihummiﬂimmufﬁ:iﬂmmnm 1 and V. Justify your answer using appropriste
proof{s],
i Consider a random variable W = §.6X + 0.8Y. Detgrmine o (X, W) and corr (Y,W).
(5*2=10)

Compare both with carr(X. Y}
ET.O.
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ﬂ?mmm_ﬂ#ﬂ,ﬂm#mmﬂ.mﬂmﬁm#w
ma:m..w;ﬁn;*hwnﬂamrmmmmmm!
ﬂ;mﬁamtum.mmﬁwﬁﬂm*mmwﬂmz
tmw-ﬂrﬁm#mmmﬁﬁHM1mmﬂWaﬁm
mmuhmmmsxgmmmnmﬁmﬁmnm
w4 3 F (5)
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[This question paper contains 12 printed pages. ]
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Sr. No. of Question Paper : 2309 G
Lnnque Paper Code L 2274001003
Name of the Paper 1 Prneiples of Microeconomics

Name of the Course . Generie Elective —
Economics

Semester HE

Duration : 3 Hours Maximum Marks © 90

1. Write your Roll No. on the top immediately on r:n&il':':l
of this question paper,

1. Attempt any five questions.

3. Answers may be written cither in English or Hindi:
but the same medium should be used throughout the
paper.
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g T dte W & I A

3 WE- A I Mwﬁﬂwmiw,ﬁfm
iy g 1 e e A e )

. Answer the following questions :

{n) Explain the concepts of producer surplus and
constiiner surphus, Consider a market for apples.
Suppose the supply of upples rises, What huppens.
o eonsumer and producer surplus at the new |

equilibrium in the market [or applesT (9

{b) Whal is Price Cedling? Does o price ceiling fixed
by the government always change the market

sutcome? Chive redsons for. your answer. %

el W ® TR A

rm]aﬂmmaﬁmqﬂnwﬁmma@ﬁtilwnnmﬂli
ety R fory v e ) e A
ﬂﬁnﬁﬁqﬂilhﬁmiwﬂw
—— R

b

2309 3
(@) wa @ w7 w AR w faffe g A
o & W oweEs @7 awr Tew 6w
T

2. Answer the following questions |

{a) Rahul is consuming twio goods X and Y. His income
is R 100, Price of Good X is Re 10 and the

price of Gaod Y is Rs: 10 ("

{1} Given the above nformation, draw ihe

budgetl line for Rahul,

(i) Suppose the price of Good X decreases 1o
R, 5. Mow will the budget line for Rahul

chanpe?

(i) tnstead of 8 decrense in the price af Gowd
X, Rahul's {ncome increases to Rs. 200
How will the budget line for Rahul change,

in comparison to Part (i)? €

PT:Q
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{b) What is an indifference curve? Explain the
properties of indif] ' f

—

Tz







"
(03 Hlustrae and explain the concept of Law of
Variable Proportions. In this contexy, differentiate
between increasing returns to a fac :

Mhctor and decressing returns to




" .
i

ok
|

2309 10 2309 T
equilibrium. What will be the total revenue, increasing returns o seale or decreasing returns

marginal reve
E hue and wverage revenue for the to ycale or constant returna loo scale.

firm? (9)
Y=LK
Tl well & awe A
T K i
() Tl ¥ S v # e me Ry b {0 = L i
e ffy & dm mm owh {b} In continuation of Part (a), if suppose the firm is
producing 100 units of output. Write the equation
() 0 o o ol el e ¥ v o o e of 1sequant for the two production fanctions ghven
ﬂwmwi-ﬂﬁ'ﬁﬁmt P y ) in Part {(a). Ikl

w4 5 B At wm owew w0 oy oy #

| Erefiferm wol & wom A
MC =3+ 70 ¥ =t =0 o men = @ oop v

il R T TR R S — () o ofrerd aom & ww (1) o g (K) ® S

s altwd o wm oEAm w3 7 (V) W e wor o) v e w R

w1 Pl e o i # wees #, ae P

8. Answer the following questions - = B wm WA T e or A o m ot W e

i o W W T R
() Consider a firm producing output'(Y) using labour et @ At w P e .

(LY and capital (K) in o perfectly competitive

Wy =LK

market. In each of the following produgtion

functions, determine whether the firm' is facing (i ¥ = JIK r
il = L

PT0.
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Instructions for Candidates

Pl

Write your Roll No. on the top immedistely on receipt of this question paper.

Answers may be written ¢ither in English or Hindi; but the same medium should
be used throughout the paper.

3. All questions within ¢ach section are to be answered in a contiguous manner on
the answer sheet. Start each question on & new page, and all subparts of a
question should follow one after the other.

4. The use of a simple non-programmable calculator is allowed.

5. Simtisticol tables are attached for your reference.

6. In all calculations; figures should be rounded to two decimal places.
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SECTION | (% 1)
Both Questions are campulsory.

it wwr b #

een simple random sampling and stratified sampling.

—

1. (a) Differentiale belw

(b) Let X, Ry oo X bes random sample from a popu lation with mean p and ,
<tandard deviation, o, The sample mean and <tandard deviation are denoted

by X and s respectively, Which of the following can be regarded as a
statistic? |

W
i} 3

(i) ‘Max (X1, X2,... Xn}

5
{111} 3
{iv) Min {5, 5} {24+3)

(v) A7
M]ﬁwwﬁmfﬁm*ﬁﬁm

(7) = Y x,.xu,,...x“mpaﬁmm.utm W WA A
v T N W 1 A s W fe WA X SN s B0
ﬁﬂaﬁquﬂirﬁ:nﬁhi%ﬁﬁwﬁpﬂww;ﬂ

(i) ‘-f;:;-*‘—‘ :

(i) Max {X1,X2,..., Xnj

(i) %

(iv) Min is s}

() &
3 Consider an experiment of tossing two dice. Let A be the event of an of 4 tot
B be the event af getting 1 on the first die, and € be the event of a total of sever

(5]

Which pair of evenis are independent”
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- g wwE

SECTION 11 (e 1)
Q3 s compulsory. Attempt any Two questions from Q4. Q5 and Qi

oI 3 sfd #1 9v 4, ¥ B e e TR
Wﬂ?ﬁ'ﬂﬁﬁi’iﬂﬁﬂ'l

oved from a drawer coniaining § brown

selected and rem
ks, List the elemenis af the sample space, thetr
r variable W, where W

d the values of the rando
ed. Also, find the cumulative distribution
i3)

1. Two socks are randomly
s gnd 3 green s0¢
itics, an

sock
corresponding pro babil

o number of brown socks select

is th
function of W,

ﬁﬁﬂwgﬁnﬁmﬁm%
mmmﬁinmﬁmﬁaﬁf.ﬁmﬁrmﬂmmﬁﬂrﬂﬁmﬁﬁmqw
%ﬁﬂwm,mwaﬁ@miﬁﬂmhmﬂ,w
ﬂﬁaﬁ:ﬂiﬂwmnﬁrﬁh

nes. Let X denote ithe

telephone I
r below the CDF of X

hutiness has 4

4. (=) A mail-order computer
ficular time. Conside

pumber of lines in use at o par

r Dforx<l1

1

Efm‘l‘_: x=<2

F(x) = - 2<x<3
']-irﬂl"

5
—fm'E‘E-.t-riq-
| 1forx=4

Find
PR<X=4%
Gi) PX = 2)
(iii) Probability distribution of X

PT.0.
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(b} OF all customers purchasing a calculator from a store, 75 percent purchase
a serentific calculator. Let X = the number among the next 135 customers who
select the s¢ientific caleulator.

(i) Compute P(X = 10)
(i) Compute P(6 £ X < 10)

(i) If the store currently has 10 scientifie caleulators and 8 non-scientific
calculators, what is the probability that the requests of these 15
customers can all be met from the existing stock? {(5+5)

(%) v ¥m- st ey wmmm # 4 2e we B ¥ s difaw B X R
foim wm W IEm ¥ aW 9w WAl 9 weEn = oewier B S Ry o
X % CDF w fam =ifam

r Dforx<1

-;—'furlirn:E
1
F[x}z-ifnrzﬂ.t-:s

5 :
EfﬂrB Sx=d
. 1farxz=4

M Fifag
) P(2 <X £ 4)
(i) P(X = 12)
(i) X w1 wpnlAa fwom
(@) v ®H F Powto @ T wh aww ¥ @, 75 wREw v Awmiw

A =i 1 W AR B X = S 15 T A A S
W GG WA O o HeE

(i) M(X = 10) & o Fifaw




5. (a) Imthe manuf :
the status of the glassware 10 that of & ‘second’. If, on gverage, One in every
1000 items produced has 3 bubble, caleulate the probability that exactly six

items in a hatch of three thousand are seconds.

(b} The probability density function of & random varisble X is given by

f[1]=JLEI|:‘:]_1} ::rr D<x<l

Fimd

(1) The distribution function F(x)

{1} P(X < 1/4) .
(i) P(X = 112) (5-+5)

(7) TAEE ﬁ'ﬁwﬁni,mimﬁmmﬂiﬂﬁmﬁﬁm# Fwe'

afe, s, I W 1000 sreen ¥ ¥ vE A TN

ﬁﬂﬁm%ﬂlt]
mh‘ﬁiﬁm#ﬁﬂ

ﬂﬂi.ﬁﬂﬁm&hiﬂm‘m
AT

BT.O.
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6. (a) The average number of acres burned by forest and range fires in & large area
ix 4,300 acres per year, with a standard deviation of 750 acres. The
distribution of the number of acres burmed is normal. What i8 the probability
that between 2,500 and 4,200 acres will be burned in any given year? What
number of burnt acres corresponds to the 38th percentile?

{b) Suppose that on a certain stretch of highway, cars pass at an average rate
of five cars per minute. Assume that the duration of time between successive
cars follows the exponential distribution.

() On average, how many seconds elapse between two successive cars?

(ii} Find the probability that after a car passes by, the next car will pass
within the next 20 seconds. (54+5)

M]ﬁﬂwﬂhﬂmmﬁﬁm%mmhﬂmiﬁm
Ao Wiy o 4;mmi.w7snmwmm1wﬂm
ﬂaﬂmﬁﬁmmﬁmqmirﬁﬂﬂtﬂiz.mnﬂuun
m%ﬁh%ﬁﬂm&ﬂi?ﬂmhﬁmﬁ
ot G 388 WA A W w27

{H]mﬂﬁwﬁrmﬁﬂwﬁﬂwﬁw.ﬁ.ﬁMWﬁﬂm
ﬂiqm#i:nﬂﬁﬁﬂﬁﬁhmﬁﬂ'ﬁmﬁmﬁrmﬂum
w1 sE o
;i}irmwmﬁ#ﬂwaﬂﬂmﬁmﬁmm s 7
ni}mmﬁmﬁmmﬂﬁﬁmwmiqﬁﬂ:m,Mﬂm
s g0 dwE & Wi IERE AN

SECTION 111 (@@= 111)
Attempl any two questions from Q7, Q8 and Q9.
¥ 7, WEA B S UE 9 ¥ 2 B @ w3 I S

7. {a) Suppose X, X...X, 152 random sample from the Exp (L) distribution.
Consider the following estimators for@= 1A




= (—) . X

(m+1)

fi= (I X and B

(i) Which estimator ig unbiased?

]

(i) Which estimator has minimem VArIANGe
in (i) and {ii) can you say that which

(i) From the information obtained
sstimator 13 better?

syndrome {SIDS) cases derives a mean

a listing of all birth weight, it is known

in this population 15 800 grams.

rth weight of SIDS *

(b} A study of 49 sudden infant death
hirth weight of 2998 grams. From

that the standard deviation o of hirth weight
Calculate a 95% confidence interval for the mean | bi

population. Interpret your resulis.

o X By :h:ﬁﬁ“mﬁu{mﬁfﬂil
e=1a‘hﬁﬁw1ﬁﬂﬁﬁﬁaﬂuﬂﬁwwm:
li:ﬁ-mwﬁmﬂi? l

mmmﬁmiﬂﬁmmi
1mmwﬂmﬁiﬁﬂmaﬁﬁm {‘

cases in the {5+5)

{m]mﬁtaﬁﬂgh[sms}ﬁﬂmﬂﬁwmi:vnmw |
ﬁmﬂmﬁwmmﬂwmﬂmh?ﬂwrﬂﬁnﬁmmﬁ%, 3
uﬁmiﬁﬁmﬂﬁﬂmﬁwmmmmhmmwmﬁwmn \

i‘smaqﬂ'imﬂpﬂmﬂﬁq%%mmﬂﬁm |

ﬂmnaﬁqﬁuﬁaﬁtmnﬁﬁm

g  {a) Derive the moment estimators of the paramelers of normal distribution.

(b) A survey of 2003 adults revetled that 25% adults believed in astrology.

ce interval at the g9% confidence

ts who believe in astrology.

8 1 to be

(i} Calculate and interpret o confiden

level for the ptoportion of all adul

{ii)y What sample size would be required for the width of a 99

P T.O.




s460 R
at most .03 jrrespeetive of the vatue of p’! (5+3)

. X from the pdf

m sample X -

y Consider a rando
0.5(1 + 8%

g, (a
fix; 8) = }I—\*_C:r.ﬁl

i =3X isan unbiased cstimator of 0.

p< 1. Show that @
f vaccing

on batch @
gic analyses are nol
etiing slightly

where -1 =
es of 2 producti

uiacturer !
its Ti1eTs. lmmunﬂlu

b}
the same batch 8

1o check up o0
fect, 30 she repials measurements on
different results each Hme. The public health scientist assumes that repeated
measurements will vary gecording 10 8 normal distribution with mean ji andd
a = 0,070. Three (n=3) mensurements reveal the following tirers: 117,44,
17.36, 17451, Calculate g5u;, confidence imterval for the wae -:uw:entrmiun
i which Jistribution you will use and why?
y T i

fix,:8) =
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munhmwﬁmwm&mwﬂhﬂmaﬂmm
mmmimm-mmaﬂaﬂ u 3o ~ go70 W HE AR
miﬁuﬂﬁmi’ﬁnﬂrﬁ{n;mmﬁmﬁhﬂfaﬂﬁzﬂi;
[17.40, 17.36, 17.45), =ealyE gD | # fr 95% AT FTH
o e S mmmﬂmmﬂﬂﬁmﬂ‘?

SECTION 1V @g 1V)

Attempl any tWo questions from Q10, Q11 and Q12
gFr 0, WET N N A 12 ¥ @ B S g W e Hifw |

i0. A machine fills milk bottles, the mean amount of milk in each bottle is supposed
1o be 32 Ounce with a standard deviation of 0.06 Qunce. Suppose the mean
amount of mitk is approximately normally distributed. To check if the machine 15
operaling properly, 36 filled bottles will be chosen at random and the mean
amount will be determined.

(i) What should be an appropriate test hypothesis 0 this case?

(ii) Based om your answer in part (i), ifan o = 05 test s used to decide
whether the machine is working properly, what should the rejection criferion
bel

(i) Find the probability of a type 1L efrof when the true mean is 32.03.

(iv) Find the power of the test if the lTue mean 15 32.03. (10}

wwwﬂﬁﬁﬂmﬁi,uﬁﬂmiqyﬂm“mam
& waw fEowm ® W 32 ﬂﬂﬂmt:mﬁmh@ﬂ-ﬂmm
mmmﬁ%ﬁuﬂhmﬁﬁhﬁmﬁm%m
ﬂtﬂiwaﬂ.ﬂﬁﬁ:aiﬁﬁﬂﬂhﬁwigﬂrm#m“

= 05 whmtuﬂ:;qn‘l'trﬂmmi
3w o B W A, T Sl AEEE

PT.0.




5460 10
(iii) wa W W a203 ®, A wew 0 g H wREEm o wifr

(iv) aft w@ wmer 3203 #, W whwor Fi A A A

1. (1) A random sample of 150 recent donations ai a certain blood bank reveals
that 82 were type A bloed. Does this suggest that the actual percentage of
type A donations differs from 40%, the percentage of the population having
type A blood? Carry out a test of the appropriate hypotheses using a
significance level of .01. Would your conclusion have been different if a

significance level of .05 had been used?

(b} An article reports on the tensile properties of wire used in manufacturing of
u coil. Suppose a sample of 16 wires is sclected and each is tested to
determine tensile strength (N/mm2). The resulting sample mean and standard

deviation are 2160 and 30, respectively.

(i) The mean tensile strength for wire is said to be 2150 Nymm’. What
hypotheses should be tested to determine whether the mean tensile

strength of wire exceeds 21507

{ (i) Assuming that the tensile strength distribution is approximately normal,
whiat test statistic would you use to test the hypotheses in part (1)7?
What is the value of the test statistic for this data?

(iii) Whit would be your conclusion using the P-value of the test statistic?
(5+5)

(%) frdit ww T ¥w A wR BOA R W as0 oW & ugRow W A T
wem # B 82 Y A TaW 4 =W wed v wew # fE oEmT A TROW
At e 40% # ww R, TET A TE W st = wftwmE W BT
o1 ® WeE W F W 39 e w1 ohew Fife off 05 F W
w W udm fE@ o R W wn soe el e e

{H}ﬂflﬁﬂmﬂﬁﬁﬁﬁﬂ*amhﬁﬂaﬂﬂmimﬁm
faE w1 W ARm B e TR W TH SEn g W ? S WS
= e w (Nimm2) Freffr =@ & e ofew fwm o #) oo T

g A e e mem 260 SR 30 #
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A6 Appends Telves
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13, An individual purchases quantities a, bo ¢ of three

different commaodities whose prices are p. q. r
fegpectively. The consumear™s exogenols meome given
is M where M = 2p. The utility Tunétion is defined ns
Ufa, b, ¢) = o + In(be).

{fa) Using the Lagrangean methicd, find the consumer s
demand for each good as function of prices and
inCome. (4]

() Show that the eatio batwesn marginal utility of o
commadity und its price per unit must be same for
all the commaodities. (3

(¢) Show thot the expeadithre on'setond and third
good are always egual EY
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Sr. No. of Question Paper : 5120 G
Unigue Paper Code : 12273363
MName of the Paper + Data Analvsis
Name of the Course ; B.AL (H) Economics — SEC
Semester ;  HI
\ Duration ; 3 Hour Maximum Marks : 65

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper has two sections, Attempt any TWO questions friom each
seciion.

3. You do not require the wse of R or Excel software to snswer any question,
Wherever asked, mention/discuss the command/function/syntax, as required in the
GuUEsHDn.

4.  The questions in which B or Excel i§ nol mentioned, the answers should be based
on your own ealealations,

5. Use of a simple non-programmahie calculator 18 allowed.

= 6.  Stptistical tables are attached for vour reference.

SECTION A

l. {a) The Prncipal at 4 college emailed a survey to a total of 300 students, The
sample ncluded 100 students randomly selected from cach of the first year,

second voar, and third year of the college.

PTO,




5120 2 ™

(i) What type of sampling method was used? (2)

(1) Explain why the sampling method stated in (i) iz the most efficient

method, (3)

(iiiy How is the sampling method described above different from non-

probability sampling? Explain. {5)

(b} Differentiate between excel functions RAND() and RANDBETWEEN().
(3

(e} Explain rep() command in B using an example. (3)

2. f(a} The following data represents the stress score and life satisfaction score

collected from u sample of 10 participants :

Stress Score Life satisfaction
score

11 7
25 1
19 4

7 9
23 2

6 8

11 8
22 3
25 3
0 B







4
ed at random 400 times and heads turn up 240

rded as unbiased? Use 5% level of

5120

(i) A coin is 1088

times. Can the coift be rogs

significance. (4)
(i} How will the result in:[i}":ﬁl’mﬂtﬂ:d if the observed number of heads
(2)

< 3167 Use 5% level of significance.

by Two random samples of sizes % and 11, drawn from w0 aormal populations,

are characterized as fiollows :

nnpmaﬁnn from which Sampic Sum of Sum of squares |
sample is drawn Size Observations of ohservations
| 8 *A 9.6 61.52
1 1 16.5 73.26

ttons can be taken to have the same

You are to decide if the two popula

n would you use? How s it distributed? Test the

variance. Which test fanetio
()

shove hypothesis al 594 level of significance.

(¢) Explain the difference between getwd() and setwdl) commands in K.
(4.5]
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35 Al A manufscturing company wants to estimate the avergge amount of purchase
of its product in 4 month by the customers. If the standard deviation is
®s 10, find the sample size if the maximum error is not to exceed Rs. 3 with
2 confidence level of 99%, How will the sample size change if the confidence

Evel chenges to 90%? (6}

B The dats for number of days present per week for a population of three
emplovecs, namely, Rishi, Radhika and Shanti of an organization is given
bedow

Emplovee Number of Days
Rashi 3
Radhika 6
Shants 4

sSuppose you select samples of two admmistrative assistanis with replacement
from this population. Calculate the sampling distribution of sample mean.
Compare it with the population mean number of days present. Are the two

equal? Why or why nat? (6}

{e) Explain the use of the following B commands: read.csv and read.table.

(4.5)

ETO.
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& (a) A study

¢ conducted to see if WREES of daily workers in North and South

India differ from each ather. Results for two-sample 1-tests, assuming equal
variances, for wages, are given below

L 5tat
two tml
oo tail
T critical two tail al 1%
T critical one tail at 1% 2.998
{1y State the pull and alternative hypotheses 10 (est if the average
daily wage in North India differs from average daily wage in South
India. {2)
i) At 1% level of significance, is there an evidence of difference in wWages’

Also test the hypothesis that average wiages in North India are greater

{han those in gouth India. (&)




®) Explain the

]

P e
o B F R

Rins -.-_L‘ Mﬂn ¢ NERM,S-DIET

xplain the use of the ﬁﬁumiqgkmmma using example: 1s()

(2}

(3.5)

(3}
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Mame pf the Paper : Fiscal Policy and Public Finance
in India

Mame of the Course B.A. (Honowrs) Economics;
Discipline Specific Elective
(DSE)

Semester « 1

Duration : 3 Hours Maximuwm Marks @ 90

Instructions for Candidates

. Write vour Roll No. on the top immedintely on receipt
of this question paper

2. This question paper conlains eight questions. Attempl

any five.

3. ANl guestions carry equal marks

4. Answers may be written either in English or Hindi;

bui the same mediom should be wsed throughout the
paper,
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6, Esplain the dutions of the 134

Finance Commission, al rondmap envi caged

{1%)

7. (a) Iustrate how there is a clear potential for moral
hazard on the patient side of the medical care

system. Use suitable diagrams. ]

i} Generally, Tor every emissions fee, in theory there
is @ cop-nnd-trade system that achieves just the
same outcome, and vice versa, However, in
practice, there are some differences in how the

two systems perform, Discuss. ("

il § he Budgel
() Annul Finanginl Statement of the B
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Name of the Paper ¢ Indipn Ectnomicy |
Name of the Course . G.E.: Economics
Semester .
Duration : 3 Houors Maximum Marks 1 75

| instrustions for Candidates
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of this guestion paper,
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guestion
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Attempt any —_____ questions, {fill accordingly;
OR

First question is compulsory and attempts any other
guestions from remaining.

3. Part of the questions: to be attemptied tosethir.
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ol Poverty, . Amartya Sen —

. FOCEss 0

B suy thal an 5
3 > g 4
wih 18 importan

from the point of v
inequality?

poverty and

e (7.5+7.5)

i, s st o o oy 2t
. : P ce. Does Indin sull) bl st i

R T I e * gfewin A s N hic dividend? (7.547.5)
#? B

Sy n: gw ]
e octor oL w
5. Growth trajecteries of Indin and China stand
differently. Whal were the trigper points behind their

growth experiences? Elucidate, 1%

A T R - g o fa &
T T S R g v
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Income Delermination

Name of the Course : B.A. (Hons) Economics
Semester : M
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this guestion paper.

]

This guestion paper is divided into three sections,
1. Use of simple calculator 15 allowed,

4.  Answers maybe written either in English or Hindi; but
the same medium should be used throughout the paper.
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 SECHION C (mw w),
Atiemps any 3 out of she following. W '
| Enb question carriex 10 marks, ( 3 10-30) ‘
Frtfinf f-lﬁ#%‘-i Bt 3wt e A,
10, In a faraway country, t'lia- 'mt’j" ulition is 5
PSople (il of the non-nsitiont st iy
3000 are working and 250 are lookitig for a job,

() What ix the size of the labour force? What are
the participation rate and }mﬂ?lan'h'rm& rite?

3)
(b) In this cconomy, o bt Hrcd

_ Te Hnolr productivity is 1. And
= ‘“-‘Eﬂ'i‘htti_n!-é Pf!“-‘.i!,'-.! 15 described by

(c) What is the natcal unemployment ot (

and nataral level of output if Z=3%

21

Z—100u, Where Z it the unemployment

i ¢ t and u is
insucange provided by the government and W -
::h: unemployment rate. What is the Price Setting
iq;:ltium for n'umrk—up- level p = 157 Sh::r |
graphically and mathematically. i)
. [

»

graphically as well), natural level of er

ofgm W wi fwa wa # —?;=IF-1 i
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(w) mwm Wi — mm - ﬁ-vr W
g, v A dtfuﬁﬂwwmuﬁ
Zes 1

1. How does Lucas’s supply relation deseribe the
panﬁhﬂitynfwuwmu;ummytndmta
from 15 full capacity level? What characteristie(s) of
ﬁgtﬁﬁw Wl;ﬁm is (are) are rﬁmﬂnﬂ to pﬂrﬂ
mwm effective pmpmuum mwg the model

proposed by Sargent mﬂ thalms (f‘g‘?ﬂ» explain

: m pnﬁa‘hﬂity of mﬁwﬁvmm of expansionary
mmmrx pnlhs' luinm-m uﬁlputﬂhmh:mll capacity
level, (2+2+6)

o g A P @ sk e )
o e e b R e W
i 47 A A R w S R A
e 1w iy ¥ e o A (1976 ) @0 W
e 1 T T g, e )
& iy Fewd A 4R A g e @
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(b) Determine the change in the house-price, in ca

‘of an Increase in d an
| of the: howsa-priva o Bitanh
: .Mﬂﬁﬂ.ﬁMMiﬁ
T regardiag the Guuwe of houriag PSS
from this change in house-price. f;ﬁ]

et Ffa % K- 3w ¥ ww we 30,000 W Wi ¥
ﬂhwmhqwﬂﬁfﬂqﬂ.@im
a8, it w0 W § *“H
e 4, ﬁnﬁhmwmﬂnhw. LR

s a & e, i
¥, wrr S A § ot P i, o
Nwﬁmﬂﬁuﬂmmq

i‘mimiih‘ﬁﬂ E ‘m Ir

{I} mﬂhﬁaﬁhﬁ;ﬂti;iu
ﬂuﬁﬁiﬂi‘ e A AR e
 Fafien i, ﬁmmﬁum
%thur#ﬁ-ni'gmimwim
W W A A WY w FEEe e

(4500)
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of this question paper.
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipl
of this question paper.
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Attempt any 3 guestions.

3. Answers may be written either in English or Hindi;
but the same medium should be wsed throughout the

paper.
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Name of the Paper

Mame of the Course
Semestor/ Annual

3
] Duration : 3 Hours

Your Roll No.....ceeen

Sr. No. of Question Paper : 822 G

: 2271230230

i Intermediate Microcconomics 1+
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Instructions for Candidates

1. Write your Roll No. on the top immedistely on receipt

of this question paper.

2. The question paper consists of two parts i.e., Part A

and Part B,

3. Answer any fowr questions from Part A and any two

questions from Part B,

4. Answers may be written either 1n English or Hindi:
but the same medium should be used throughout the

paper.

P T.0,



822
- |
o o Pt o Ry fnfitn T S |
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maw ¥
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PART A ‘

g !

oy =m.
ne be given by PrX « Py.¥ «’

1. {a) Let budger i oubles, Price of X alsi

fncome Of the consumer d
dotibles and -good Y has & o
imposed, write the equation of the ne

-

per unit of tax of |

822 k]
(b} Derive the demand curve for twa goods X and v

with the help of Price offer curve while price of
X is changing and price of ¥ is constant,

{c} Shew the aptimal consumption bundle for perfec
substitute goods with the help of u diagram
(5.5.5)
(%) 7= #fim f e PAX A+ PyY omw &
wE 1 uft Iodem o s M B w4 v e
T 0 A R e R T Yoo T
WEE %% e W, A ok wwe A
T

(=) X =g v s v ow e
i.ummll,'rm'-ﬁmiawqa?r X #
Y # fown oww e difm

(m) s o o W R Ry e
T T
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2ty bl good % angd ¥ oure bads, draw S0Mme
tndeflerence curves and afga indicate he

preference direcrion with uhnnging Incame

1b) Explain why convey Prefercices mey, that

AVeriges jre preferred g EXIrEmes,

i€} Explain why indifference curve jy | shaped fior

Perfect complement Boods [5,5.5)

;u}wwxﬁyﬁmt.&qum“ .

w&wmmﬂﬂmmm#ﬁ
T Fif,

{a}m%ﬂmﬁdﬂaﬁmﬁmﬁm
mﬁmmhmi'mtwrﬂﬁm

() w%hﬁﬁmqﬁ%ﬁ? sftrmr oy
I.mﬁ'ﬂffﬂwfl

822 5
3. {a) Braw price offer curve and demand curve for

good %, if good x and v ate perfect complements.

(b} Show how a per unit tax on sood x und rebating

the consumer by the tax collected will make the

consumer worse off
{c) Derive the equation of MRS for perfect substitute
zoods with the help of graph, (5,5.5)
() of o « ﬁynﬁ{iw{iﬁmx*ﬁ?‘{ﬂ

(). P o 3 ey o e g
# I W g 8 o # e i
® wd @ e

(M) Yl e & Rph
MRS w1 whtwm wr i

PTO
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4, (a) Show using a diagram that il preferences are
quasilinear, the entire change in demand is due (o

substitution effect.

(b) What are different methods of managing risks other
than insurance? (10,5)

() e T e <R e e

¥, i ¥ g aftedy i e R R
L]

() d & s se A & whe & e G99
Lo

5. (&) Using a disgram show certainty squivalent,
expected consumption, risk premium for o

consumer who is risk nverse,

(b) A consumer is having (wi,w2) endowment of two
goods % and y. Explain the change in uM‘
budget line if the value of her "lndd_ir_mg'ﬂ'l

(10,5

decreases.

822 7
(%) s w1 Twm e e A WA I
i-'.mm“n, wifie s, e it
vl
() wor o & e @ sl x by A el
{wl,w2) h iven o Pl = g e e W
) wr Yem i ofeekr W e A

PART B

L

6 Il}bﬁﬁﬂﬂ iﬂﬁib_l!hlﬂ'. ntlﬂ-ﬂlllirll and Constant

Returns o Scale and show how one can use
Isoquant map to explain each one of them.

{h}.ﬂﬂpp&lt [ ﬂﬂﬂ haw 150 workers and two
]ll'ﬂﬂ’hﬂﬁﬂ m .ii ‘each ]Hlut the marginil
product of labor declines ay the amount of labor
m.muw disgram how the firmy
will optimally assign workers between the two
m : &
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(e) What s meant by factor-neutral technical change

fior @ producing firm? Explain. [%:3.3)

(%) W oW owed, wed s Fear wiew wt ofonfi
difew s weiy & a9k @ wEE A e Wl §
T srwioie ww oW Ivdm W Bmow owwe
1]

{m) wer A f f R @ s0 wfE sl S oemes
u0a #1 welE Woa d, ww S W st % oWy o
i AW TR W W S I e
difi =l @ arE & Ba whe W A e
@ e s

(M) TEEw wwE & e s A TR O A
w7 wed 27 v wif

812 9

7. (a) Economic cost of & firm is aiways more than its
expenditures on labor, materials and rental of fand

and copital. Explain.

(b} Suppose a pmicullu: firm produces outpul using
labor and capital in fixed proportions: For given
input prices. how the firm will select its least cost
input combination? Explain uging » given lsocost
line and Isoguant map. Now, if the inpul prices
incrense then how will the firm select i3 new

input combination?

(¢) With the help of o disgram, explain the relationship
between Average Cost, Average Variable Cost,
Average Avoidable cost and Marginal Cost in the

‘shart-run

(d} How would you interpret the margmal rate of
techmical substitution of a firm for labor with

capitul given as 37 (3,5.5.2)

P.T-0.
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() v wA =t ;s e s o, T ooyl S
Py sk gE o oI wm @ afire el b e
=it

{wr) et Wi B wE P ol P seom 3 s ol
9o = I A TeE e a2
g g W g, S S A S S
WA FA E T AEAEE e A e
= FwEm we e i, o e o S
wedl # W) wd et oy g W W o d9
A

() siter W weEm A semf ¥ shew o, s
fteAm T, St oid a A am w
#ra wau we #ifim

(M) ¥m 3 & WA S g R Am oam R By oUw
w7 A s o e ow o) ww B
Lau

822 11

£  {a) Define Marginal Revenue, What will be the shape
of the marginal revenue curve if o lirm fnces

downward sloping demand curve?

(b] Using Marginal Cost, Average cost end demand
curve explain how the profit-maximizing quantily
15 determined of a price taking firm with no sunk

COElE.

{¢) “Ispguants representing the same technolagy
cannot interséet” Explaan this statement.
y 474

(%) o e ) it i o e AR
SN T WE AN EE W W e T A

A T A W

(w1) e e W e gy, S A
aw a5 e B B A § e s s
sfirre @ W W @ g oww @ Pl
B '

€
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this guestion paper.

2. Attempt amny 5§ questions.
3. Part of the guestions to be attempied together.

4. If question papers has part-A/B/C (write appropriate
directign].

8. All guestions carry equal (15) marks.

6. Use of Simple Calculator allowed,

7.  Answers may be written cither in English or .Hilldil
but the same medium should be used throughout the

paper.
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Sr. No. of Question Paper : 2160 G
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Name of the Paper © Money and Banking

Name of the Course . Generic Elective -
Economics

Semester S 5

I-Dumlinn: 3 Hours Maximum Marks : 90
wetions for i

|.  Write your Roll No. on the top immediatcly on receipl
of this question paper.

L]
H

This paper has 8 questions, out ol which 5§ have to
be done by the student.

1. Each gquestion is of 1B marks.

-

Please attempt all parts of o question in one place.

5.  Answers may be written either in English or Hindi;
but the same mediom should be used throuphout the

paper.

P.T:0O.
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il @ fow fdm

1 = oam-gE 8 e f ww fe o Padfe s w s
e e |

2w hw A g ower B, Few @ 5w W we a w

3 wErEWE s FE Y

4 e a wi il o e # e S we

5 5 WA A e s e e o s 3 S, Afee
T T T A O A i

I, {a) Derive and explain the concepis of deposit

multiplier and currency multiplier.

th) Explain some of the factors that could lead (o
fimancial crisis, Explain the role of asymmelric

intormation in detail in this context. {6,12)

(3) wom w3 ET O S sl 6w ¥
Hifami

(7) = B =l @ men ey @ fdn .
AT Awa o o F osmwiee A o
yiwem & feme A el

IIGP

|

3

La}

(b

3

Given required reserve ratio 15 10%; desired excess.
reserve ratio is 5% and desired currency 1o deposit
ratio is 25%, how does an open market purchase
of R<. 500,000 change depogits, currency holdings
dmd money stock. How does your answer chanpe
il the required reserve matio rises to 20%7

Differentiate between the base rate and Marginal
Cost of Fundy based lending rate MCLR. How
dre these rates useful in monetary transmission?

(6,132}

(&) =% ¥@e ww fr swamEs awiee SO 0w B, mie

(@

fa}

wiAfT swfi aEmm s sl S @ SR
ST 25% B, 500,000 W W v AR @ i
A, WE wiese A A T R e e Bl
ST SREE SN 20%, W W W W e
IR WA e wmm

smiw w3 Aiala B e smole e W (MCLR)
o S e Fifay AiEE e W 3 W e v
g # 7

Explain: the legal framework that allows the
Reserve Bank of India to function as a central
bank.

P




2160 4 i

(b} Money supply in Indin can be affecied by changes
in monetary base andior money multiplier. Explain.
(6,12}

(o7) =% wwph =9 o owwen ofifin A s e S
= dde d o s A wd wer A sl A

() wmm ¥ 7w gl s R shom oo A
sftelT & wenlEe & wEe di = i)

{n) What is reserve money? List the sources of

changes in reserve money;

(b} Expliin the impact of Anancial segtor reforms since
1991 for the following sub sectors :

(1) Insurance sector

(i) Non-hank financial companies (6,11

() amfim wr = #7 swfi oo # oftadsr & e ot
T

() Frfofan 39 &6 o 1991 & fadin & qudl & o
I = A

2160 5

(i) 4 i
(i) - fovi wei

(o) Differentiate between the prime lending rate

system and benchmark prime lending rate systems;

{b) It is not merely the number of instruments that is
important but the aumber ol instruments cxerting
independent effects on the target variables.'
Explain this statement in the contexl of monetary

policy instruments and targets. {612}

(W) wmew &fEn bz Frew e Yot umw W T Ry
® i s

(@) ‘EEE v A e @ # e oA
WE] W W ERT UM EEA O ST o e W
e #1° i W guwl s e @ sl ¥
T e A S

(a) Explain the problem of lemons in-stock and bond

markens,

PT.0.
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(b) Explain how the Expectation Market Hypothesis
and Segmented-Market Hypothesis are different
versions of the Freferred- Habitat Hypothesis.
Discuss with example. (6:12)

m'mmm-ﬂiﬁ-ﬂaﬁmﬁm
T

(=) o g T P s s e Sfowen i

e e k- i afenE & R

T ) e wiEe O o

Attempt any THREE of the following

{a} Explain the difference hetween M, of second and
third working group repart of RBL

(b As information ahout firms become cusier (o
acquire, the rale of banks reduces. Explain this
statement in the context of a security market
hynpothesis.

{c) What isthe yield curve? Explain the conditions in
which 1 can it downward sloping.

{d) According 10 the gxmliﬂm hypothesis the yield
curve con slope upward, dawnward, and be o
straight ling. Explain,

2160 7

B.

{e) List three monetary tools that RBI can use to
achieve its monetary targeis. (6.6,6)

et & A ffl e @ aew A

(s1) Hmiﬁ&ﬁﬂwﬂﬁﬁﬁm.ﬂ

(a) FA-F ol @A e e S
ﬂmi.ﬁﬁﬁm&mmuﬁiﬂ%m
affeern @ ded A g e o e dif

(@) witws o w27 3 feafi off aven s foe
o5 A ﬂw;ﬁmh

(z) e e % s a9 s A s R
#, e =ifa)

(g} A A R o A e S el
:ﬁmﬂ‘ﬁ“ﬁ**ﬁwmmtl

Attempt and TWO questions of the following :

(a} Briefly explain the expectation hypathesis. How
could future interest rates be forecast wsing the
expectation hypothesis? 1

L 4
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(b) What are intermediate targets? Crinically examine
the rate of interesl and money aggregates as

intermedisle targets,

{c} Derive and explam the following: Deposit multpher,
currency multiplier and complete money multiplier.
(9.9)

fopforfins & & @1 wel & I T
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(b) What are intermediate targets? Crinically examine
the rate of interesl and money aggregates as

intermedisle targets,

{c} Derive and explam the following: Deposit multpher,
currency multiplier and complete money multiplier.
(9.9)

fopforfins & & @1 wel & I T

(%) v o= W R F wEm e i
w1 IO W wEE oW o W e $4
i g

(7)o e #7 Ao asa w ¥ ¥ =W e A
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Each question carries 10 marks.

Use of a zimple non-programmable calculator is
allowed.

Sectlon A

(a] Evaluate whether the following function is
continuous at x =4 : {5)
£ —xn-12
y-f[a]z -4
(b) Find the Marginal Revenue (MR) and Average
Revenue (AR for the following demand function:

Q = 44 — 4P, Also, comment on the relationship
between MR and AR (5)

{a) Find %‘; for the function: ¥y = xF + x. {5

(b) Find out F,(K(), L(), F,(K(1), L() and the rate
of change of output with respect to time, for the
following production function :

¥ = F{K(t), Lit) = K{)*L{t)* a, b= 0

where K(t) and L{t) nre the capital stock and
labor stock respectively at time t, (5)

937 3

The utility function of an individual is denoted hy
ulx) = 1+Ex"' where a, b and p wre posifive
a

constanis, and x denotes money income,

() Compute marginal wiility of the individual, MU{x)
and s derivative with respect 0 money meame.
Interpret their signs. (%)

{b) If the Coefficient of absolute risk sversion, r(x)

is defined as:rx) = - url:xfl and the Coefficiont
u'fx}
4 s
of relative risk aversion, 1, [x]= “uu{i’;'l . eompute
ry(x) and ryix). 5%

(a) Consider the demand function for canned fish in o
gountry: Q = 75 - P¥ where, 13 quaniity
demanded (boxes of canned fsh) and P is price
per box of fish.

{1} Compute the point elasticity of demind (or
canngd lishes when the price of a box offish
18 Re 7,50 15 iv unit elnstic/inglastic!
elastic?

(i) What happens to the point elasuciy of
demand 1f the price falls in 37 In1rr|1rrF
(2.5+2.5)

PTO
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() Find out the partiel elnsticity of pltpat with respect
1o inputs for the following production function
Y o= [aKe £ (1 mpNY

where 0 <& < 1iand <o < v 35 1. (5}

5 Consider o-market model with the following demand
and supply equations
Demand equation: € = o - pE
Supply equation: Q.= OF

where a, p>0
where @ > O

() Derive the equilibrium price and quantity. Find the
partiul derivative of price and guantity with respect
io a. Interprel its meaning and sign {5}

(b How will the equilibrium demand change if 8
increases? Use partinl derivative to answer this
question. Check vour results by graphical analysis,

(1]
. Copsider the following equilibrium condition for
natinnal mcome ©
Yl + 4 = 80¥) + T(Y)

where 1,43, 8, T and ¥ denote investiment, government
expenditure, savings, Inxes and national imcome
respectively.

Assume that G = G, all the derivatives are continuous,
FOY)L SV T = 0and 1Y) < 8'(Y) + T'(Y),

937

5

{n} Explain the sconomic interpretation of 1'0Y), 5'(Y).
T'(Y)- (5)

b} Are the conditionis) of implicit function theorem
satiafied? If so, write sn expression for equilibrium
identity. : {5}

Section B

{a) A wine selter is in possession of a particular guality
of wine and hence is the only seller in the entire
defined market, The inverse demand and varlable
cost funclions are

2
p= 75— 2x and VO{x) = 12x + xT respectively,
where % is quantity demanded and p is price per
unit. Suppose fised cost of produetion is Rs. 350,

(i) Write down the revenue funciion, total eost
futiction.and profit function of the firm, Find his
profit maximizing level of output. {5)

(ii) Caleulate the price, profit and total cost a1 the
output level obtalned in part (), Alsa check for
the second order eonditions for profit MK Imsation.

15}

The cost function faced by & purely competitive firm
producing two products is:
"T.O.

L+

|
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C =20} + 20] + 20,Q,
where, Q, and (), denote the quantity of two products.
Suppose the price of two products are - P, = 10 and
P, = 20.

{a) Find outpuot level of two products that satisly the
first order condition{s) for profit meximisation.

{5)

(b} Check the second order sufficient conditions for

profit maximisation. Does this problem possess i

unigue absolute maximum? (3}

(o) Using derivative conditions, check whether
% =x' +y! is o concave or convex funclion.
(3)

{b) Find the second order total differential for the
following function: z = x%y - xy", (5)

. (&) Determine the shape of the following function by

examining iis first and second order derivatives,
and vertical intercept

fix) = 3x? - 24x + 36 %)

{b) Determine the definiteness of the following
function: = = x? % xy+ 2y? (5)

937 7

Sectlan ©

11. {a) Consider a student, Hina whio receives o manthly

stipend of Rs, |000, which can be spent on twa
koods: Apples and Bananas. Price Per wnil of two
goods Apples and Bananas are Rs. 200 amid
Rs. 100 respectively.

{i) Draw und write down her budgst ser. How
will her budget sei change if her stipend
increases (o Ra, 20007

(it} Suppose Hina has o Cobb-Douglas Liliry
function of the form

UlA. B) = AR A=0, B0

where A and B denote the mimbet of
Apples and Bananas FeRpectively,

Derive and interpret the fisst order pareial
derivatives: U, and Uy Using the concep
of marginal utility, discuss why Hinn would
want to purchise an infimitc amount of
Eoods A and B, in the ahagnce of & budge

constraint? (2503 55

(b) Check algebraically whether the following funcrion
is quastconcave or not?
Fix) = a + fa? where 1<) (54

P.T.O
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Consider o consumer’s utility function ‘
Ulx, ¥ = =¥

If the prices of goods x and y are Rs. 3 and Rs 4
respectively, and consumer’s ineomie is Re. T2, ansgwer |
the fallowing questions @

{uh Find the values of x and y that maximize the utility
function subject to budget constraint, using

Lagrange-Multiplier method. (51

N |
b} What 15 the economic interpretation c-f-'d::l*

Lagrange multiplier? Find %", the value of the;
Lagrange multipler corresponding 1o the maximum
urility. Use this to estimate the change in the|
optimal objective function value Hf :nn.wmn‘ii
income: incresses to Rs. 73 (5

Conmder a-utility function: U (X, ¥} = (3 + BNy + 6).
Suppose the price of goods x and y are Rs. 4 and
fs | respectively, and the income of the consumer is
ks 154

(1) Using hordered hessian, check whether the second
grder condition for maximum 15 satisfied af the
consumption bundle: (16, #0), (51

(b} Use total differential to write down the squation
for indifferenee curve, Use it to derive the slope
of the indifference curve. What is its eeonomic
interpretation? (5%
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6, Explain the effect of an increase in marginal propensity
to import on equilibrium level of invome.

e g e R e @ g E
e i

1 Definc demand for money. Explain Keynes's approach
1o the demand for money.
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| Calculate also the but
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C =50+ 08Y,
| = 270 W
G = 1200 FE
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Explain the Wﬁﬂﬂﬂﬁ*mmﬂﬁ‘ﬁﬁ ﬂstuﬁ&arﬂh
human capital when an endogenous technalogical
progress s nssocinted with —

(a) deliberate innovatian fostered by the allocs
resources 1o R&D activity.

{a} MWWWW#@&M

m MIN ot ’@ # -
(1) sepeies v e & firy el & e
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Explain the three core values of economic
development, What characieristics; in your apinion,
mike India & developing economy?

s frem & A A9 gl @ swen w0 g w9 ¥
e i fdend e o T e s i #

What lessons can Indian stales learn from each other
in the process of cconomic development?

s e o i ¥ e o0 O - A A T S
diy w7

Critically review India's growth experience in the post-
independence period, with special emphasis an
domestic savings and capital formation. How can
revival of public savings and public inyestment Improve
the eversll rare: of growth and development in the
eoanomy?

6051 3

i e oG e v i 3 g
= i i wiA ® fawm S o ST WA
ke e Al whaEE FAm # gAeum @ sofame
¥ ofe o P v w ¥ AR que s e ¥

Digeusé the status and issues involved in employment
scenario In the Indian economy? What palicics have
been pursued by the goversment of India 1o resolve
the problem uﬁlgnm;r.plu;._-p:mﬂ

i sreren # e kg = Rl st w e

ﬁmwﬁm’fuﬂaﬁﬂmﬁmm&#hm
H——E E R

Do you think that Indin can reap the benefits of
demographic dividend? What does the available
research indicate regarding Ching- India comparison
on the relationship between population dynamics and
scongmie growth in (hese cconomies?

wmﬂmiﬁmmﬁﬂhmﬁm'm
e &7 S st § e A s
uﬂmhﬂ%ﬂwﬂﬁf#miﬂwﬁwﬁﬂ

Explain the rationale and the main features of the
New Economic Policy of 1991 in India and its impact

on the Indian economy.
&
P.T.O.
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7. Explain the concept of absolute poverty and relutive
poverty, Highlight the causes of paverty. Do vou think
that anti-poverty programmes have not been able 1o
achiove desired results in India?

ﬁﬂ#ﬂﬂﬂmﬂmﬁlﬂi
T 2w e v o e
T T s o e 5 e #

8.  Write short notes on any two
(a) Occupational structure in India
(b} National Population Policy 200D
(e) Changing rale of state in economic planning

{d} E¢onomic inéguality in India

miﬂmﬂmmmm:
(7] wim ¥ =l s

(¥) T W $f 2000

(9) il Feioer 3 W A wewdt
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goods X and Y in the Home country are 24 and 12,
and in the Foreign country, are 18 and 3, respectively,
The labour in Home is 2400 and that in Foreign is
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How do you account for the same?

(b} Write short notes on any two of the following :

(i) Gravity Model as an cuplanation for

{ii) Rationale for Horizontal FDI

Gy Tensiiing Curve
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) mmmﬁmﬁmﬁmm entify whether ihis. ..
Is an imporigr oF &xporter ;[ |

) l'r“"’ £oVernment Eives a
$10 per unit initend of
thete be any change in fhe prg

" distortion losses)
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B, Answer the following questions :

(a) Consider mmmﬁn tr % J’E aml B.
bmp-ﬂﬁw muht structure. Under mm
Country A offers rice in exchange for wheat from
ﬁmﬂ& ﬂhﬂtﬂl:ﬁﬁmhwh:mqf&t

- ' imed at promoting economic
m:ﬂ#m ﬁﬁm hrﬂ. M-rﬂ.ﬂsﬂ ;?vﬂﬁ“

{€) Write a short note on optimum tariff.

[ i w—— . = P "l ——- . | 4
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What are the basic problems of an economy? Why do
these problems arise?

it spfarsen o swgrom weend v F7 4 wwed W
e B BT

{1) How doeés & tax on o good affect the price paid

by the buyers, the price received by the sellers,.

and the quantity sold?

(b) Discuss the following concepts -
{1y Consumer surplus,
(i) Producer surplus.

(@) falll v W S dA mW e o A,
o s e s ol wr B v
wwifi ww # 7

(@) P sTmons o o Aif

(i) T s
(i) s = =

What is the price elasticity of demand? Given the

demund function 0x = 8000 — 1000Px, determine the

elasticity of demand ot a single point, where the price

is Re. & and the corresponding quantity is 2000 units.
{Dingram s required)

[}
592 3
i

wim o w w7 W wEE (= 8000 — 1000Px,
o w & e fig oW A w5 Pde S, W
dw 1o WA sE W ow W 2000 TR F (e
swas #)

What is the indifference curve? Explain the main
properties of indifference curve?

i w wm 7 TR AF & e A

Expluin the price nl‘f’EcL income effect mnd substitation
effect of a price change for a normal commodity using
guituble dingram.
mmmﬁﬂmiﬁ_‘wmwﬁﬁﬂﬂri’
i

{n) Define Total fixed cost, Total variable cost,
Average cost and Marginol cost.

ibh Total cost and output sehedule are as given in the
following table -

Cutput [ 0 5 1 |15 |2

1 10
Totel 1300 | 305 s | G602 [ 756 | 1005 [ 1540
con |

Find:— Total fixed cost, Toial variable cost,
Average cost and Marginal cost

P.T.0.
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(3r) et - e = e o, A
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e ———— pp—————
st TS W e A

7. Explain the law of diminishing returns of a factor.
[lustrate this concept with the help of graph.
e an F TR WA ® frm =1 A W
Fuw W P s ]

8. (a)In the long run equilibrium of a competilive

firm, show with the help of o sketch thut
LAC=LMC =AR=MR

(b} Derive the short run supply curve of 8 firm under
perfectly competitive market.

(#) aﬂnﬂmimm.ﬁ:ﬁﬁmﬂﬂw
& Snfemier ¥EE 3§ LAC-LMC = AR=MR ¥l

#
(%) @MW%WW'#H FErEEA T
TF e S (1000)
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3. (a) Explain Human evelo
Also discuss the India’s
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